IGCSE Cambridge ICT0417/11 Full Answer

1.

Full answer with explanations:

yes no
Full name v
Capital of England v
Gender ¥
Number of flowers in a garden v

Full answer with explanations: 1. Screens tend to be anti-glare, reducing reflections and improving
visibility in various lighting conditions. 2. Uses touch screen, allowing users to interact with the
device through tapping, swiping, and gestures. 3. Front and back facing cameras are included,
providing the capability for video calls, photography, and other multimedia applications. 4. Has a
built-in battery, allowing the tablet to be portable and operate without the need for a constant
power source.

Full answer with explanations(a): 1. Customer is asked to enter their debit card in the ATM,
initiating the transaction process. 2. Customer’s bank computer is contacted, establishing a
connection between the ATM and the bank's central system. 3. The card details are searched in the
bank database, retrieving information related to the customer's account. 4. Card is checked to see
if valid/in date/stolen, ensuring the card is current, valid, and not reported as stolen or lost. 5.
Customer is asked to enter their PIN, providing an additional layer of security for the transaction.
6. PIN is compared to the PIN stored on the chip, verifying the customer's identity and ensuring the
authenticity of the transaction.

Full answer with explanations(b): Advantages of Visiting the Bank: 1. Retention of banks allows
access for all customers, ensuring that individuals who may not have internet access or are
uncomfortable with online transactions can still avail of banking services. 2. Easier for customers
to speak to a member of the banking staff, facilitating direct communication for personalized
assistance and inquiries. 3. Customers do not have to purchase expensive computer equipment,
making banking services accessible without the need for additional technology investments.
Disadvantages of Visiting the Bank: 1. Have to pay to travel to the bank to use the service, incurring
additional costs for transportation. 2. Customers could waste time standing in queues or traveling
to the bank, leading to potential inefficiencies and inconvenience. 3. More difficult for people who
have a condition affecting their mobility, posing challenges for individuals with physical limitations.
4. Smaller customer base as it is local, limiting accessibility to those in close proximity to physical
bank branches.
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